_
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(
1 AgNO; NaCl AgCl
2| Pb(NOs), HCl PbCl, ()
3| Pb(NOs), Kl Pbl, ()
4 FeSO, NaOH Fe(OH), )
5 BaCl, H2SO4 BaSO,
6| Pb(NOs), NaS PbS ()
7| Pb(NOs), K,CrO, PbCro. ()
8 AgNO; Na,S AQ,S
9 FeCl; NaOH Fe(OH); (@)
10 AgNOs K.CrO, AQ.CroO,
1 AgNO; NaCl AgCl L NaNO;
Ag cr AgCl L
10 2 AgNO; K2CrO, Ag.CrO; L 2 KNO;
2 Ag* CrO/# Ag.CrO4 1




PB(NO:),
Pb?*

Pb(NO:),
Pb?*

FeSO,

Fe2+

BaClz

B a2+

Pb(NO:),
Pb?*

Pb(NO:),
Pb*

2Aq0

FEC|3

Fe3+

2 HCI
2CI

2Kl
2

2 NaOH
20H

H2SO4

5042-

Na,S
S%

K,CrQO,
CrO42'

N azs

3 NaOH
30H"

PbCl, ¢
PbCl, 1

Pbl, L
Pbl; ¢

Fe(OH), 1
Fe(OH), 1

BaSO, 1

BaSO, 1

PbS ¢
PbS ¢

PbCrO, L
PbCrO, L

AgS L
AgS L

Fe(OH); 1
Fe(OH); 1

2 HNO;

2 KNO;

Na,SO,

2 HCI

2 NaNO3

2 KNO;

2 NaNOs

3 NaCl

/ CxHy 1

1 |CxHy 0 - CO, H,0
CO, H0
1 CXHy 0, - CO; y/2 H,O
0..2x +y/2 - — . 2X 0..y/2
1
)
1 CXHy 0, - CO, y/2 H.O
(2x +y/2 )=2
1 | CH,4 0, - CO, H,O
1 | CsHs 0O, - CO; H0O
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CsHs 0, - CO, H.O
CsHuwo O, - CO, H,O
CxHyOz (0] 0,
CxHyOz 0 - CO2 y/2 | H,O
(2x+y/2 -Z)=+2
CH.O 0O, - CO, H.O
C:HsO 0O, - CO; H.O
CeH1206 02 - CO, H.0O

NaCl = Na Cl,
Kl cL, o KCI I,
22
NaClOs - NacCl 0O,
C.H> (O]} - CO; H,O
CsHi0s + 60, — 6CO,+6H,0
CH, + 30, 2C0O; + 2H.0 2NaCl - 2Na+Cl,
CiHs + 50, -~ 3CO,+4H,0 2KI + Cl, - 2KCI + 1,
2CHs + 150, - 12CO, + 6H,0 ZMg + O, N ZMgO
2C4Hpp + 130, - 8CO, + 10H,0 2NaClO; - 2NaCl + 30,

2CH,O0 + 30; -
C:HO + 30, -

2C0O; + 4H,0
2C0O; + 3H,0




